LITTLE KING 85 Series MEIDEN

Low-Voltage 3-Phase
Induction Motor

Squirrel Cage-Rotor Type

@M?
WM"H@
{{EJ@@’.? 0 allmachines




Il Motor Construction

Protected drip-proof type

Frame Nos 80L ~ 112M

Frame Nos 1325 ~ 180M (vemllancn hoies in its frame. )

i

The Frame 180M is provided with

;,\(GD
DIy

]
=

Vertical protected drip-proof type

D 2
Se060

1
.
G

i
®

&

3d¢

!
DEOEOEE

1)

OO ©

L

surface cooled type

-

Totally-enclosed, frame
~—
4‘I

Frame Nos 63~ 80

e : 10 _ == -
1 T
I 4 ] —
i € DT I RO,
Frame Nos 80L~112M (3]} J5is ornsiiootion s provided with)| - Frame Nos 1325 ~ 180M (The, Frame 180M 1 provded win) Frame Nos 180L ~ 250M
No. Name No. Name No. Name No. Name
@ Frame ® Rotor fan av End lid e Eye bolt
@ Stator core @ Shaft 02 Terminal box (&) Drip-proof cover
® Stator winding Bearing ( Bearing box @ Inner cover
@ Bracket @ Corrugate spring @ Outer cover
® Rotor core Fan guide 49 Fan
NN AN (= (o)
14)(15)(9)(4 (8 ;(12! J
./\__(\ AA N 7

OB D | WEEEEE®

. (I DE v ]

. X .

,ﬁ/___/ [/ 7 Qj\\ ‘
14

For the Frames 180L ~225S,
terminal boxes are of side

Frame Nos 180L ~315M (mountlng type.

)

Frame Nos 63~ 80

Vertical totally-enciosed, frame surface cooled type

Frame Nos 90L ~ 180M

Frame Nos 180L ~ 280M (

For the Frames 180L.~225S,
terminal boxes are mounted
in different positions.

)

1 <Note> The above construction varies with Frame No.

[l Terminal Construction

Terminal cover
Earth terminal Lead wire
|
Legd) wiie | Terminal cover ferming C(;vaedr UG L Terminal Cover Terminal board
Gasket Lead wire
/ Gasket
Bushing
/
©
Q
>
&
.
Q
8
£ Earth terminal
Terminal box Terminal box
/ Terminal box Terminal box
Frame Nos of Protected type 80~ 112 | Frame Nos of Protected type 132~ 160
F - -
Frame Nos Totally-enclosed type 80 Frame Nos Totally-enclosed type 90~ 160 (Crlaar?ne '\105'9;80 22 Frame Nos.250~315
{Bushing type) (Bushing type) P (Clamp type}
Terminal cover  Lead wire Tgrminal box
~
Terminal cover ~Gasket Gasket Gasket
Terminal cover Terminal boX
\ Lead wire Lead wire
Terminal box
Gasket
[}—Gasket
8 Bushing ‘
z Clamp
o - 3 Terminal clamp
o |
Q
e Earth terminal
> Eath terminal
o Earth terminal i
(41— Eath terminal Gasket
Earth terminal Cable head
Cable head Gasket <
, Cable head ~\\ A\
Frame Nos. 180~ 225 Frame Nos. 250~ 315
Frame No.160 and helow (Bushing type) {Clamp type) (Clamp type)

[l Bearing Construction

Brackex\% Flinger Ereaen Bracket
Corrugate spring
Bracket ] .
(Counter-coupling side) | Back oplate Bearin
Corrugate spring . Bearing Bearing Corrugate spring Bearing - "
@ Finger —_| Shaft
S Shaf
a" End iid._ Shaft Shatt H Bushing || aft
@ N
< ~
%__ 1) _
a P — =
©
: Y
el
]
3 &Y
2
<
« |
- %
I Protected drip-proof type (Coupling side) T -
. . . otally-enclosed outdoor type Totally-enclosed outdoor type
Protected drip-proof type (Opposite-coupling side) Totally-enclosed splash-proof type {Opposite-coupling side) {Opposite-coupling side)
Grease nipple
Grease nipple
Grease pipe EeesD [
Bracket
Inner Outer bearing cover
bearing cover Bracket
©
Q Bearing
2z G e Inner bearing cover
- Flinger
c
QE! Shaft Bearing
o A
a Flinger
& N Ll
5
w
©
w -
8 Waste grease cover
(B G@ Snap ring “\Snap ring
Inner cover 8 \ . _='
ran Drain 7
Waste grease Waste grease cover
Waste grease collector Waste grease collector STk IR (72
Totally-enclosed .
splash-proof (outdoor) type :}‘ Protected drip-proof type
(Coupling side) ~— Waste grease cover Totally-enclosed splash-proof (outdoor) type




Protected Drip-Proof Type (TypeEDS85)

Air

FH

Protection type P22
Cooling type 1CO1
L
R KL
A B 0| D
’Awr inlet
,QR wi WX\
S CER Y D
oot a2l o e S
X Df J z | I
ol — > GEE: R anliEs
0 X |
FOl; *ﬁF F | xg Bz - EL‘-‘J i
‘ i amy BE | BE |
N BF = BF z g QAM

W

Bracket tightening bolts for ]

. 6-pole and 8-pole machines
Fig. 1 Frame Nos 80 ~ 100L (are located outside the frame

Frame No. 112M

External Dimension

(Only 2-pole and 4-pole machmes)
are attached hunging bolt.

Fig. 2 Frame No. 112M (6-pole and 8-pole)

X:Sliding distance

Air
outlet

Fig. 3 Frame Nos 132S ~ 160L (

For the Frame 132, three bracket
mounting bolts are used.

)

a4

The Frames 180L ~200L are)

Air

outiet

Fig. 5 Frame Nos 180L ~ 225M \provided with slide bases. Fig. 6 Frame Nos 250M ~ 280M

Shaft Slide base (Rail) F oundation Bearing No. |~ | Frame
R|s|a|T]u|wlar|Be|sF|Bc|BH|Bm|BN]BZ [BX[RW[RN] X [FO[FH|FW| Sime | Oppeste | IMotor| Base| No.
140 |19 | 40| 6 |35 6|03 65| 90|15 (30 [214(210[ 13| 9| — | — | 40| 10| 95| 40 | 62042z | 6204zZ | 11.5 20 80
1685/ 24 | 50/ 7 |4 | 8l03| 70|105| 15 | 30 |230{240| 13 | 9| — | — | 40| 10| 95| 40 | 62052z | 62052z | 17 | 22[ 90L
193 |28 | 60| 7|4 | 8{05| 80(115| 20 | 40 |270|260| 13| 9| — | — | 50{ 10| 90| 40 | 6206zz | 62052z | 24 | 3.0f 100L
200 |28 | 60| 7 |4 | 8|05| 95|115 20 | 40 |290|260| 13| 9 | — | — | 50| 10| 90| 40 | 63062z | 62062z | 35 | 35| 112m
200 | 28| 60| 7|4 | 8|05| 95/115| 20 | 40 {290|260| 13| 9| — | — | 50| 10 | 90| 40 | 63062z | 62062z | 40 | 35| 112m
239 |38 | 80| 85 |10 |05[110(120| 25 | 45 [355|280| 13 | 105 — | — | 60| 10 | 85| 40 | 63082z | 62072z | 55 | 5.0 1325
258 | 38| 80} 8|5 |10|05([110|140| 25 | 45 {360 318| 13 | 105 — | — | 60| 10 | 85| 40 | 6308zz | 62072z | 69 | 6.0 132m
323 (42 [110| 8 |5 |12 |05 |125(165| 30 | 50 406 {380 16 | 105 — | — | 70| 12 [115| 50 | 63092z | 63082z [100 | 85| 160m
345 |42 |110| 8 |5 |12 {05 [125(185| 30 | 50 |406|420| 16 | 105 — | — | 70| 12 [115| 50 | 63092z | 63082z [110 | 10.0] 160L
345 | 48 [110| 9 |55 14 |05 |125|185| 30 | 50 |406 420} 16 | 105 — | — | 70| 12 |115| 50 | 63102z | 63082z [130 | 10.0f 160L
351.5| 55 (110 10 |6 |16 |1 [140[185| 35 | 55 |456|420| 16 | 115 — | — | 80} 12 [1156] 50 | &§252) | 839822 [190 | 13.0] 180M
3705/ 55 [110/ 106 |16l1 [-[ - =-[-[-|=-1=}1~-1~=|=|=1-1]-1|-1 6312 | e308zz [210 | — |180LH
4005| 60 (14011 |7 |18 | 05(140 205| 35 | 55 456|460 | 16 | 115 — | — | 80|12 |115| 50 | 631322 | 63112z |215 | 14 |180L
a76.5| 55 [110| 10 |6 |16 |1 | — | — | — | = — ==/ =1=|=1=1=1-1 est2 | esoszz {250 | — |200MH
4065 65 [140| 11 |7 |18 [1 |160|210| 35 | 60 |535 470| 18 | 13 | — | — [100]| 16 {150 | 63 [63t4Cy/NU314| 63122Z {260 | 17.5|200M%
402 (55 [110{1016 |[16|1 |- || === =|=1=-1=-|=|=1-1-|-| 6312 | 6308zz |315 | — |225sH
432 | 75 |140|12 | 75| 20 [1 [200| — | 85 | 71 |770|476| 20 |225 | 71 {190 (180 16 |265| 63 |6316C3/NUI6| 631322 |325 | 38 [2255%
4145|585 (1101016 161 [—=| -1 -1 - -] =1—=|=-1={=|=]=1-1|-] 6312 | 63082z {350 | — |225MH
4445| 75 [140| 12 |75 | 20 |1 |200| — | 35 | 71 |770|501 | 20 |225 | 71 |190|180| 16 |265 | 63 [6316C3/NU3I6| 63132Z |360 | 38 |225M%
4335|855 (110|106 |16 (1 [— || =1 =1 11| =|=|="1=|=]-1]-] 8312 6312 [470 | — [250sH
4935| 85 [170| 14 |9 (22 |1 815 — | 30 | 85 (900|521 | 19 |250 | 80 |210[180| 16 |265| 63 |6318C3/NU3I8| 63152Z |485 | 65 |2505%
4525|855 [110|10|6 [16(1 [—[—=|=|=|=-|=|=|=-|=|=1=|=]=1]—-] 632 6312 [515 | — [250MH
5125/ 85 [170| 14 |9 22 (1 [3158] — | 30 | 85 |900 559 | 19 |250 | 80 [210[180| 16 |265| 63 |6318Ca/NU3I8| 63152Z |530 | 65 |250M %%
484 |55 (110|106 |16|1 |—|—-[=|=|=-|=-|=-|=|=|=1=|=-|=1]-=] 632 6312 [620 | — [280sH
544 | 95 (170| 14 |9 |25 |1 |315| — |30 | 85 |900|578| 19 |250 | 80 |210|200| 16 |265| 63 [63e0ca/NU320| 6317 [640 | 65 [280S%
509.5| 55 (110|106 [16(1 [— |~ | | -|=|=|=|-|=t=|=|=]=1]—-] 632 6312|710 | — [280MH
569.5| 95 [170| 14 |9 |25 |1 |315| — |30 | 85 |900|629| 19 |250 | 80 |210|200| 16 |265| 63 |63e0cy/NUs20| 6317 {730 | 65 [280M3%

Frame Output (kW) Ulass 1o, Motor

No. I 2-pole] 4-pole]6-polelspole| 15w IN-I"A T B | ¢ | D | E | Flel H | 1t |u ] k]t |mM]|[nN] z[xe]ko]|kL
80 075 o5 04 02l E 1] o758 96 | 80 |53 625 50 | 3| U8} — | 3a | 282375 160 | 128 [10x20] 50 | 22 | 139
90L L3 15 075 04 1 |1155/114 | 90 (129 70 | 625 4 [132?5 — | 3 | 30|284 | 175 | 155 |10X20| 56 | 22 | 146
oo | — | 22/ 15 o7s| E |1 [130 {1285 100 (132’ 80 | 70 | 4| P | — | 42 | 34 (323 | 200 | 175 [12X24] 63 | 22 | 156
112M 37 371 — | — | E |1 |1375/1355/ 112 |202 | 95 | 70 | 4| 229 |262 | 42 | 34 [337.5 230 | 175 [12x24| 70 | 22 | 167
fem | — | — | 22/ 18 E | 2|1355/1355/ 112 |225 | 95 | 70 |14| 233 |266.5 45 | — {3355 226 | 176 | 12 | 70 | 22 | 170
1325 55 55 37 *22 B |3 |151.5/153 | 132 |2563.5/108 | 70 |16| 270 |311.5 50 | — |3905| 252 (176 | 12 | 89 | 34 | 213
132m | — | 78| 55 37| B |3 |1705/172 | 132 |2535(108 | 89 16| 270 |311.5| 50 | — 4285 252 | 214 | 12 | 89 | 34 | 213
160M | 1L [ 11 | 75| s8] B | 3207 |207 | 160 |2985|127 |105 |20 | 318 |369 | 60 | 61 [530 | 315|262 | 15 | 108 | 34 | 238
160 | 185 15 | 11 | 75| B | 3 {229 |229 | 160 |298.5|127 |127 {20| 318 |369 | 60 | 63 |574 | 315|306 | 15 | 108 | 34 | 238
160L | 22 [ 1850 — | — | B | 3|229 |229 | 160 |2985[127 |[127 |20| 318 [369 | 60 | 63 |574 | 315|306 | 15 | 108 | 34 | 238
180M | 30 | 32 | 18| 15 | B | 4 [236 (1P| 180 (341 [1395120.5/22| 367 |427 | 70 | 65 |587.5) 350 | 294 | 15 | 121 | 49 | 320

180LH | 32 — | — | = 256 700.5
ST 151 F | 5830 180 |378 [139.5139.5/22 | 365 | 425 | 70 | 68 350 | 332 | 15 |[121 | 62 | 320

180L = | & | 28 | 384 255 7305

200MH | 85 | — | — | — 262 7185
= — F | 5342 200 (418 [159 [133.5/25| 405 | 465 | 80 | 80 395 | 334 | 19 | 133 | 62 | 344

200MS6 | — | 55 | 32 | 30 262.5 7485

25sH | 75 | — | = | — 286 795
F | 5 [393 225 473 [178 [143 |28| 457 |528 | 85 | 85 445 | 353 | 19 | 149 | 62 | 374

2258% | — | 75 | 55 | &7 286.5 825

205MH | 90 | — | — | — 405.5(298.5 820
= F |5 225 (473 [178 [1555/28 | 457 |528 | 85 | 85 445 | 378 | 19 | 149 | 62 | 374

25M% | — | 90 | 75 | 45 405.5/299 850

250SH |110 | — | — | - 316 908.5
F |6 |475 250 |525 |203 [155.5/36| — |605 | 90 | 100 500 | 380 | 24 | 168 [120x160| 463

250s% | — {110 | 90 | 55 319 968.5

250MH |132 | — | — | — 335 9485
F | 6496 250 |525 |203 [174.5/36| — |605 | 90 | 100 500 | 420 | 24 | 168 [120x160| 463

250M% | — [132 |110 | 75 338 10085

280SH |160 | — | — | — 366 999
F | 6515 280 (585 (2285184 (36| — |685 100 | 110 560 | 440 | 24 | 190 |120x160| 493

2808% | — |160 [132 | 90 368 1059

280MH [200 | — | — | — 391 1079
F | 6 |5695 280 |585 [228.5(209.5/36| — (685 | 100 | 110 560 | 490 | 24 | 190 [120x160| 493

280M% | — 1200 [160 |110 393 1139

<Notes> 1. Tolerance for size S is j6 for ¢28 or less, k6 for ¢38 to ¢p48 and m6 for ¢55 or over, according

2.
3.

engineering).
Tolerance for size C is 0 to —0.5 for 250 or less and O to —1.0 in case of exceeding 250.

Frame No. C/B show direct coupling (C) and belt driving (B) and the two types have different kinds of bearings at coupling sides.

to JIS B 0401 (Limits and fits for

WO~ s

In

case of V-belts, after reference the table of “Application of V-Belts and V-Pully” (P16), please be careful with selection and installation.

Bearing Nos. in the parenthesis show the one for 2-pole motors.
In frame Nos. 80 to 100L, sizes D and H in brackets are those of 6 and 8-pole motors.
Size may be changed. Please inquire sizes, when used for design.
In frame No. 180M, size B in bracket is 2-pole motor.
. 2.2kW-8-pole in marked symbol* is class E insulation.




Vertical Protected Type (Type VE9O0)

Vertical Protected Drip-Proof Type (Type VEDS85)

Protected Drip-Proof Flange-Mounted Type (Type HED85)

19Uy

Fig. 1 Frame Nos 90L (S-pole and 8-pole machines

Frame N0'1 12M (Only 2-pole and 4-pole machmes)

Protection | 90L~100L, 112M (2,4-pole) | 1P20
type 112M (6,8-pole), 1325~250M | 1P22
Cooling type 1CO1
D o .

Bracket tightening bolts for ) LN-¢LZ/

~ 100L Fig. 2 Frame No. 112M (6-pole and 8-pole)

are located outside the frame

Fig. 3 Frame Nos 132S ~ 160L

are attached hunging bolt.

External Dimension

L
|

=

LL

Fig. 4 Frame No. 180M

\n

=
L

— il oR
!
/ Eﬁ_f/—
[
Le LE
L TR
L
. D
EE=S]
== : +
@ T j |

Fig. 5 Frame Nos 180L ~ 225M

Fig. 6 Frame Nos 250S ~ 250M

Output (kW) Gass rig Motor
Fiange No. Frame No. sy N '

2-pole| 4-pole | 6-pole | 8-pole ] wion |™O} D | LL | LL | IE | LA} LB |LC|LE|LG|LZ|LN|LR|KD|KL
FF165 90L »2| 15| o) 04| E |1 |161 [3055/2555) — [165 130|200 | 85 | 12 | 12 | 4 50 | 22 [ 149
1001 — | 22| 15 o) E |1 ]|182 |341 (281 — | 215180 | 250 | 4 16 | 15 | 4 60 | 22 | 158
FF215 112m 37) 37| —| —| E |1 ]202|3635(303.5| 150 | 215 [ 180 | 250 | 4 16 | 15 | 4 60 | 22 | 169
12m - | —| 22| 15| E |2]|240 |421 (361 |155 | 215|180 | 250 | 4 16 | 15 | 4 60 | 22 | 170
— 1325 22| 55| 37| *22| B | 3| 270 [485 (405 |180 | 265 | 230 | 300 | 4 20 | 15 | 4 80| 34 | 213
132M — | 75| 55| 37| B |3 |270 523 |443 | 180 | 265 | 230 | 300 | 4 2 |15 | 4 80 | 34 | 213
FF300 160M T N 75| 55| B | 3|310 (613 |503 | 209 | 300 | 250 | 350 | 5 20 | 19 | 4 |[110| 34 | 238
160L - |15 |11 75| B | 3]310|657 [547 | 209 | 300 | 250 | 350 | 5 20 |19 | 4 |110| 34 | 238
160L 185 — | —| =] B |3|310 657 [547 | 209 | 350 | 300 | 400 | 5 20 |19 | 4 |110| 34 | 238
FF350 160L 22 |185| — | — | B |3]|310 (657 |547 | 209 | 350 | 300 | 400 | 5 20 | 19 | 4 |[110| 34 | 238
180M 30 |32 |13s|15 | B |4 |362|671 [561 | 247 | 350 | 300 | 400 | 5 20 |19 | 4 |110| 49 | 320

180LH % =] =] = 700.5 110
FF400 5 T35 T5ss] F | 5378 590.5| 247 | 400 | 350 | 450 | 5 22 [ 19| 8 62 | 320

180L =% | & || 57 730.5 140

200MH 55 =| =| = 7185 110
= o~ F |5]|48 608.5| 265 | 500 | 450 | 550 | 5 22 [ 19| 8 62 | 344

200M% — |55 |35 |30 7485 140

225SH 75 =| =| = 795 110
FF500 F |5]473 685 | 303 | 500 | 450 | 550 | 5 22 [ 19| 8 62 | 374

2258 % - |75 |55 |37 825 140

225MH 90 =| = = 820 110
F |5]473 6935 303 | 500 | 450 | 550 | 5 22 [ 19 | 8 62 | 374

225M% -9 |75 |45 850 140

250SH 110 =[] =] = 908.5 110
F | e]52s 798.5| 315 | 600 | 550 | 660 | 6 25 | 24 | 8 120x160 463

2505 % - 1o | 90 |55 968.5 170

FF600

250MH 132 == = 948.5 110
F |6]s2s 838.5| 315 | 600 | 550 | 660 | 6 25 | 24 | 8 120x160| 463

250M % - 1382 1o | 75 10085 170
<Notes> 1. Tolerance for size S is j6 for ¢28 or less, k6 for $38 to $48 and m6 for $55 or over, according to JIS B 0401 (Limits and fits for engi-

neering).
2. Tolerance for size LB is j6 for $450 or less and js6 for $550 or over, according to JIS B 0401.
3. Frame No. C/B show direct coupling (C) and belt driving (B) and the two types have different kinds of bearings at coupling sides.

Shaft Bearing No. Argg;osx. Flange type Frame Flange
s Q T U w QR |Coupling side| 9epaste | | (kg) D L | LLx |Ex| No No.
24 50 7 4 8 0.3 620522 6205272 19.5 161 3055 | 2555 - 0L FF165
28 60 7 4 8 0.3 620622 620522 27 182 341 281 - 100L
28 60 7 4 8 0.5 630622 6206272 40 202 363.5 | 3035 | 150 112M FF215
28 60 7 4 8 0.5 630622 620622 45 225 381 321 155 112Mm
38 80 8 5 10 0.5 630822 6207ZZ 62 253.5 441 361 180 1328 ==
38 80 8 5 10 0.5 6308722 620722 76 253.5 479 399 180 132m
42 110 8 5] 12 05 630922 630822 106 298.5 570 460 209 160M FE300
42 110 8 5 12 0.5 6309272 630822 127 298.5 614 504 209 160ML
42 110 8 5 12 0.5 630922 630822 135 298.5 614 504 209 160ML
48 110 9 5.5 14 0.5 6310ZZ 630822 137 298.5 614 504 209 160ML FF350
55 110 10 6 16 1 Je312) | (630822) | op 341 628 | 518 | 247 | 180M
55 110 10 6 16 1 6312 630827 200 700.5 180LH
378 590.5 | 247 FF400
60 140 11 7 18 0.5 631322 631122 205 730.5 180L
55 110 10 6 16 1 6312 630822 240 718.5 200MH
418 608.5 | 265
65 140 11 7 18 1 6314C3/NU314| 6312227 250 748.5 200M %%
55 110 10 6 16 1 6312 6308ZZ 305 778.5 225SH
473 668.5 | 303 FF500
75 140 12 7.5 20 1 6316C3/NU316| 631322 315 808.5 22559
55 110 10 6 16 1 6312 6308272 340 803.5 225MH
473 693.5 | 303
75 140 12 7.5 20 1 6316C3/NU316| 6313Z2Z 350 833.5 225M %
55 110 10 6 16 1 6312 6312 460 908.5 250SH
525 7985 | 315
85 170 14 g 22 1 6318C3/NU318| 6315ZZ 475 968.5 250S % FE600
55 110 10 6 16 1 6312 6312 505 948.5 250MH
525 8385 | 315
85 170 14 9 22 1 6318C3/NU318| 6315ZZ 520 1008.5 250M %
4. Incase of V-belts, after reference the table of "‘Application of V-Belts and V-Pully” (P186), please be careful with selection and instal-
lation.
5. Bearing Nos. in the parenthesis show the one for 2-pole motors.
6. Sizes of flange-mounted type are the same as those values of vertical type shown in the above table other than those marked symbol*.
7. In frame Nos. 80 to 100L, sizes D and H in brackets are those of 6 and 8-pole motors. 6
8. Size may be changed. Please inquire sizes, when used for design.



Totally-Enclosed Frame Surface Cooled Type (Type TIS85)

BX —-—

[

BM

Fig. 3 Frame Nos 90L ~ 112M

Fig. 5 Frame Nos 180L ~ 2258 (

The Frames 180L —200L are
provided with slhde bases.

)

Fig. 6 Frame Nos 2508 ~ 315M

Sliding distance

Protection 63 ~ 71 Body IP44
type
yp 80 ~ 315M IP44
Cooling type 1C0141
L L
— R ,—R:J rA
A B 0] D A B #oﬂ [_ 77777 D. _
[ SN | 1
| S/ <5 |
x B =SR2 s
4 1 : <
J T o8I
- D, :
L N 9_% : \ t
! a E- g | i
] o 2L PAET S
| LKl i ! (N L P«q H ‘
ofPLUL L F 1 F | xB[\BZ. ‘ e L E A
wf - ‘
| S T {@t ! 88 . BE I
[N\ BF .~ BF 2] 1 I P VI
1ooen T oBxL. BM
Fu |
(Bracket tightening bolts for 'BB_rac’kel Iéghsl_em?g bgll:‘ for
Fig. 1 Frame Nos 63 ~ 71 Sr-so\lgo:?:d Bo-fgi‘lemlarfgl?re:me Fig. 2 Frame No. 80 (arzo\zc:rl]ed ost)sfdemtﬁe r;?:me
External Dimension
Frame Output (kW) ;?f‘ass Fig Motor
NSU-
No.  12-pole] a-pole | 6-pole[8-pole | tmen Nl A [ B | ¢ | D | E| F | G | H ] 1 ] 9] K] L]|M]|N] z|xB]KD] KL
63 0.2 02| — e E 1 {108 76 63 | 129 | 50 (40 25 128 - 25| 20 (211 125 (100 (7X14| 40| -— -
Al 04| 04| 02| -— E 1 120 | 86 71 | 145 | 56 |45 3 [144 - 27| 22 (240 | 140 | 112 |7X14| 45| — -
80 075 075 0.4 02] E 2 [140 | 96 80 | 167 | 62,550 3 [1635| — 34|28 (280 | 160 | 128 [10X20| 50| 22 | 139
90L 122 1.5] 075 04| E 3 |160.5(|114 90 | 194 | 70 |625 (10 |[187 - 35| — (8329 | 170|155 | 10 56| 22 | 152
100L - 22| 15 075 E 3 180 [|128.5(100 | 220 | 80 |70 12 (210 |2435) 40| — |373 (196 | 176 | 12 63| 22 | 160
112M 37| 37| 22 1.5] E 3 189 1355112 | 240 | 95 |70 14 (233 |266.5) 45| — |389 (226 | 176 | 12 70| 22 [ 172
1328 ?2 55| 37| *22| B 4 |217 (183 132|276 108 |70 16 (270 (311.5) 50| — |456 |[252 (176 | 12 89| 34 | 215
132M 75| 55 37| B 4 [236 (172 | 132|276 108 (89 16 (270 (3115 50| — |494 [ 252|214 | 12 89| 34 | 215
160M :15 11 7.5 55| B 4 1270 [207 |[160 | 320 127 [105 |20 (318 (369 60| 6t (593 | 315|262 | 15 | 108 | 34 | 240
160L 18.5( 15 11 75| B 4 1292 (229 [160 | 320 (127 [127 |20 (318 (369 60| 63 (637 | 315|306 | 15 | 108 | 34 | 240
180M | 22 | 585 15 | 11 | B [4 a1 |79 ] 180 | 366 [139.5/1205[22 [a67 [a27 | 70 645|6625) 350 [ 204 | 15 | 121 [ a9 | 320
180L | 30 [ 30 | 13% 15 | F |5 |30 [2275] 180 | 366 [139.5/1305/22 [s67 |427 | 70| 685[700.5] 350 | 332 | 15 | 121 49 | 320
200H | 32| — | - | — 281 756.5
= = =2 F 5 |361 200 | 409 (159 [152.5/25 |[405 |[465 80 | 81 400 | 372 | 19 | 133 | 62 | 344
200L. - | %] g% 8 280 7865
225SH 55] - - 286 778.5
F 5 |376.5 225 | 462 (178 143 |28 |[457 (528 80| 85 440 | 355 | 19 | 149 | 62 | 374
2258 % - 55 45 30 286.5 808.5
250SH 75 - - - 317 9145
F 6 |481 250 | 530 |203 [155.5|32 |740 — 90 100 500 | 385 | 24 | 168 | 62 -
250s% | — | 75 | 55 | 37 3175 944.5
250MH 90 - - - 336 952.5
F 6 |500 250 | 530 (203 [|174.5]32 |740 - 90 100 500 | 425 | 24 | 168 | 62 -
250M % - 90 | 75 45 336.5 982.5
280SH 110 - - - 363 994
F 6 |510 280 | 590 |228.5(184 |32 (805 — | 100 {110 560 | 450 | 24 | 190 | 77 —
280S % = |10 | 90 55 366 1054
280MH | 132 - - = 388.5 1044
F 6 |534.5 280 | 590 (228.5|209.5/32 |805 — | 100 {110 560 | 500 | 24 | 190 | 77 -
280M %% — 132 (110 75 391.5 1104
3158H |160 - - - 408 1119
F 6 |590 315 | 635 (2564 |203 |36 (880 — (110125 630 | 500 | 28 | 216 | 77 =
3158% | — | 160 |[132 | 90 410 1179
315MH | 200 — - - 436.5 1169
B 6 |614.5 315 | 635 |254 |2285(36 (880 — | 110125 630 | 550 | 28 | 216 | 77 =
315M % — [ 200 |160 | 110 435.5 1229
<Notes> 1. Tolerance for size S is h6 for ¢ 11, j6 for #14 to $28, k6 for $38 to ¢48 and m6 for 55 or over, according to JIS B 0401 (Limits and
fits for engineering).
2. Tolerance for size C is O to —0.5 for 250 or less and 0 to —1.0 in case of exceeding 250.
3. Frame No. C/B show direct coupling (C) and belt driving (B} and the two types have different kinds of bearings at coupling sides.
7

Shaft Skde base (rail) oundation Bearing No. a2 (kg) Ieramel

Ris|a|[t]| u|w|ar|Be | &F |Ba BH | BM| BN |BZ| BX [RW| RN | X |FD| FH [Fw| Coupingsie | 0P | IMotor| Base |NO
103 [11] 23| -1 —| 03| 50| 8 |[17| 30| 188(185 (13| 9 | —| — | 40|10 95|40| 620122 | 620122 | 7.0| 1.5| 63
120 (14| 30| 5! 3 5| 03| 55| 85 |15| 30| 194/ 200 (13| 9 |—| — | 40)10| 95|40 62022z | 62022z | 90 18|71
140 |19| 40| 5! 35| 6| 03| 65| 90 [15| 30| 214|210 (13| 9 |—| — | 40|10| 95|40| 6204zZ | 6204zZ | 12.0| 2.0| 80
1685(24| 50| 7| 4 8| 03| 70 | 105 |15| 30| 230/ 240 |13| 9 |—| — | 40|10| 95 |40 62052Z | 62052Z | 235 2.2| 90L
193 (28| 60| 7| 4 8| 05| 8 (115 |20| 40| 270/ 260 |[13| 9 |—| — | 50{10| 90 |40| 6206ZZ | 6205ZZ | 32 | 3.0[100L
200 (28| 60| 7| 4 8| 05| 95 | 115 |20| 40| 290,260 13| 9 |—| — | 50]10| 90 |40| 6206ZZ | 6206ZZ | 45 | 3.5|112M
239 |38| 80| 8|5 (10|05 |110|120|25| 45| 355|280 |13| 105/ —| — | 60{10| 85|40| 6308ZZ | 62072Z | 62 | 5.0[132S
258 (38| 80| 8, 5 (10| 05 |110 140 |25| 45| 360|318 |13 105| —| — | 60|10| 85 40| 6308zZ | 62072z | 72 | 6.0[132M
323 (42| 110| 8| 5 |12| 05 | 125|165 [30| 50| 406|380 (16| 105/ —| — | 7012|115 |50| 6309ZZ | 63082Z {100 | 8.5|160m
345 42| 110| 8| 5 [12| 05 | 125|185 [30| 50| 406| 420 |[16| 105/ —| — | 70 |12{ 115 [50| 63092Z | 6308ZZ {115 | 10.0/160L
351.5/48| 110 | 9| 55 [14| 1 | 140|185 [35| 55| 456 420 [16] 115| —| — | 80|12] 115 |50| $§211) [(630822)1165 | 12.0[180M
3705|55| 110 (10| 6 |16 $2 | 140 | 205 |35| 55| 456/ 460 |16 115| —| — | 80|12] 115 |50|831258)(e30822)]190 | 14 [180L
3955/55| 110 (10| 6 |16/ 1 = | =|=]| = =l == =|=[ = —|—-| —|—| 6312c3 | 63082z |265 | — [200LH
4255/ 60| 140 (11| 7 |18| 05 | 160 | 230 |35| 60| 535/ 520 [18| 13 | —| — | 100 [16| 150 | 63 |631322C3| 6311ZZ |275 | 18 [200L
402 |55| 110 (10| 6 |16/ 1 = | =|=] = =l =|=| = |=] = —|—-| ——| 6312C3 | 63082z [315 | — [225SH
432 65| 140 (11| 7 [18] 1 200 | — [35| 71| 770 476 |20|225 |71 | 190 | 180 |16 | 265 |63 |6314C3/NU314| 6312ZZ (325 | 38 [155%
4335(55| 110|10| 6 |16 1 = | = |=] = = == =|=| = —|—1| —|~—| 6312C3 | 6312C3 [470 | — [250SH
4635/75| 140 (12| 75 |20] 1 315 | — |30| 85| 900/ 521 |19(250 [80| 210 | 180 |16 | 265 | 63 [6316C3/NU316| 63132Z |490 | 65 [50S%
4525/55| 110(10| 6 |16 1 = | =|=] = — == == - —1—| —|—{ 6312C3 | 6312C3 [520 | — [250MH
4825/75| 140 (12| 7.5 |20 1 315 | — (30| 85| 900/ 559 |19 (250 80| 210 | 180 |16 | 265 | 63 [6316C3/NU3I6| 6313ZZ |540 | 65 [B5IMIA%
484 [55| 110 (10| 6 |16 1 = | =]=] = - == == - —|=| —|—| 6312C3 | 6312C3 |650 | — [280SH
544 |85| 170 (14| 9 (221 315 | — (30| 85| 900| 578 |19/250 [80| 210 | 200 |16 | 265 | 63 |6318C3/NU318| 6315ZZ |670 | 65 |WISS%
509.5(55| 110 (10| 6 |16/ 1 = | =|=] = - == = |- - —| =] = |- 6312C3 | 6312C3 {750 | — [280MH
569.5/85| 170 (14| 9 |22 1 315 | — [30| 85| 900( 629 (19250 |80 | 210 | 200 |16 | 265 |63 |6318C3/NU3I8| 6315ZZ |770 | 65 [28IMI4
529 (55| 110|10| 6 [16] 1 = | =|=] = - == = |- - —|—=| — |- 6312c3 | 6312C3 |880 | — |[315SH
589 195|170 (14| 9 |[25] 1 375 | — |35)| 100 |1120| 656 |24 |280 |95 250 | 200 |20 | 445 |88 |632003/NU320| 6317 [900 (105 [55%
554.5/55| 110 (10| 6 |16 1 = | =|=] = =l = =] = | =] = —| =] —|—| 6312C3 | 6312C3 {950 | — {3I5MH
6145/95| 170 (14| 9 |25] 1 375 | — [35| 100|1120| 707 |24 {280 |95| 250 | 200 | 20 | 445 |88 [6320C3/NU320| 6317 [975 105 [3M%L

4. In case of V-belts, after reference table of “Application of V-Belts and V-Pully”’ (P16}, please be careful with selection and instal-

lation.

5. Bearing Nos. in the parenthesis show the one for 2-pole motors.

6. Size may be changed. Please inquire sizes, when used for design.

7. in frame Nos. 180M and 1801., size B in bracket is 2-pole motor. 8

8. 2.2kW-8-pole in marked symbol* is class E insulation.



Vertical Totally-Enclosed Frame Surface Cooled Type (Type VTIS85)

Totally-Enclosed Frame Surface Cooled Flange-Mounted Type

Protection 63 ~ 71 Body 1P44
type 80 ~ 315M IP44
Cooling type 1C0141

LL

LL

LE|ILG

(Type HTIS85)

L ]

D
+ i
Coe N
e
Lt J
1 @)
-
Ty I |
orfflle] | e
w
Findo
' 1
5T

LN-¢LZ

Fig. 4 Frame Nos 132S ~ 180M

T T

[

r

LL

/LN-¢LZ

Fig. 5 Frame Nos. 180L.~225S

Fig. 6 Frame Nos 250S ~ 280M

Shaft - Be.arlng NC;)[;poscle Qgg;ox Flange t'ype Frame No. zl(inge
S Q T U w QR Coupling side coupling side (kg) I Ex
11 23 - 1 - 0.3 620122 620127 14 - 63
14 30 5 3 5 0.3 620222 620222 17 - 7 FRIS0
19 40 6 35 6 0.3 620422 620427 22 - 80 .
24 50 7 4 8 0.3 620522 620522 30 - 90L
28 60 7 4 8 05 620622 620522 40 144 100L. crats
28 60 7 4 8 05 630622 620622 50 155 112M
38 80 8 5 10 05 630822 620722 76 180 1323 265
38 80 8 5 10 0.5 630822 620722 87 180 132m
42 110 8 5 12 0.5 630922 630822 125 209 160M r300
42 110 8 5 12 05 63092Z 630822 140 209 160L
48 110 9 5.5 14 1 Lnid oeere) 205 247 180M FF350
55 110 10 6 16 2 L) | SR 230 247 180L FF350
55 110 10 6 16 1 6312C3 630827 290 265 200LH 00
60 140 11 7 18 05 631322C3 631122 300 265 200L
55 110 10 6 16 1 6312C3 630822 380 303 225SH
65 140 11 7 18 1 6314C3/NU314 | 631222 390 303 2255%
55 110 10 6 16 1 6312C3 6312C3 520 - 250SH 500
75 140 12 75 20 1 6316C3/NU316 | 63132 550 - 250 %
55 10 10 6 16 1 6312C3 6312C3 590 - 250MH
75 140 12 7.5 20 1 6316C3/NU316| 631322 610 - 250M %
55 110 10 6 16 1 6312C3 6312C3 720 - 280SH
85 170 14 9 22 1 6318C3/NU318| 631522 740 - 280S % 600
55 110 10 6 16 1 6312C3 6312C3 810 - 280MH
85 170 14 9 22 1 6318C3/NU318| 631522 830 - 280M%

Fig. 1 Bracket tightening bolts for (graclket t(\jghstem[\g bolt: for
Frame Nos 63 ~ 71 (2;50:502;00 SO S Fig. 2 Frame No. 80 {58 0cated aureide ihe frame Fig. 3 Frame Nos 90L ~ 112M
External Dimension
Flange Frame Output (kW) OC;ass Fig- Motor
No. No. 2-pole[ 4-pole] 6-pole[ 8-pole] ien [N b [ L [ | E [LA| B |c[LE| e Lz | LN | LR | kD | KL
FE130 63 02 020 — | — | E |1 ]|129|229 |206 | — |130| 110|160 |35 | 10 | 10 | 4 23| — | —
7 04| 04| 02/ — | E |1 |145 (26052305 — | 130 | 110|160 |35 | 10 | 10 | 4 | - | —
—— 80 075/ 075 04| 02 E | 2|167 (298 [258 | — | 165|130 200 (35 | 12 | 12 | 4 40 | 22 | 142
90L 5] 1.5 o075 04| E [3|194 |342 [292 | — | 165|130 [ 200 |35 | 12 | 12 | 4 50 | 22 | 152
. 100L 22| 15| 075 E |3 |220|373 [313 | 144 | 215 | 180 | 250 | 4 16 | 15 | 4 60 | 22 [ 160
112m 37| 37| 22| 15| E |3 |240 |[402 (342 | 155 | 215 | 180 | 250 | 4 16 | 15 | 4 60 | 22 | 172
— 1328 S8 55| 37| *22| B |4 | 276 [456 [376 | 180 | 265 | 230 | 300 | 4 20 | 15 | 4 80| 34 | 215
132m 75| 55| 37| B |4 |276 |494 [414 | 180 | 265 | 230 | 300 | 4 20 | 15 | 4 80| 34 | 215
FF300 160M q| 99 75| 55| B |4 |320 (633 [523 | 209 | 300 | 250 | 350 | 5 20 | 19 | 4 [110| 34 | 240
160L 185 15 | 11 75 B | 4320|677 |567 | 209 | 300 | 250 | 350 | 5 20 | 19 | 4 [110| 34 | 240
FF350 180M 22 | 85| 15 | 11 B | 4 | 366 [702.5/592.5| 247 | 350 | 300 | 400 | 5 20 | 19 | 4 |[110| 49 | 320
FF350 180L 30 | 30 | L8°% 15 | F | 5 | 366 |740.5/630.5| 247 | 350 | 300 | 400 | 5 20 | 19 | 4 |110| 49 | 320
200LH Zl=1=1= 756.5 110
FF400 == == F |5 ]409 646.5| 265 | 400 | 350 | 450 | 5 22 |19 | 8 + -— 62 | 344
200L = | & | 8 | &5 786.5 140
225SH 55 | — | — 778.5 110
F |5 ]462 668.5| 303 | 500 | 450 | 550 | 5 22 |19 | 8 f--—{ 62 | 374
2255 % — | 85 | 45 | 30 808.5 140
250SH 75| — | - | - 914.5 110
FF500 F | 6|53 804.5| 365 | 500 | 450 | 550 | 5 22 |19 | 8 (- 62 | 490
2505 % - | 78 | 55 | 37 944.5 140
250MH 9 | —| -1 - 952.5 110
F |6]530 842.5| 365 | 500 | 450 | 550 | 5 22 | 19 | 8 —-—{ 62 | 490
250M % - 19 | 75 | 45 982.5 140
280SH 110 | — | = | — 994 110
F | 659 884 | 420 | 600 | 550 | 660 | 6 25 | 24 | 8 ——{ 77 | 525
280S % — (110 | 90 | 55 1054 170
FF600
280MH 182 | — | — | - 1044 110
F | 6]59 934 | 420 | 600 | 550 | 660 | 6 25 | 24 | 8 77 | 525
280M 4 — (132 |[110 | 75 1104 170
<Notes> 1. Tolerance for size S is h6 for #11, j6 for #14 to ¢$28, k6 for #38 to $48 and m6 for ¢55 or over, according to JIS B 0401 (Limits and

fits for engineering).
2. Tolerance for size LB is j6 for $450 or less and js6 for ¢550 or over, according to JIS B 0401.
3. Frame No. C/B show direct coupling {C) and belt driving (B) and the two types have different kinds of bearings at coupling sides.

In case of V-belts, after reference table of “Application of V-Belts and V-Pully’' (P16), please be careful with selection and instal-

lation.

Bearing Nos. in the parenthesis show the one for 2-pole motors.
Size may be changed. Please inquire sizes, when used for design.
In frame Nos. 180M and 180L, size B in bracket is 2-pole motor.
2.2kW-8-pole in marked symbol* is class E insulation.




Totally-Enclosed Frame Surface Cooled Qutdoor Type (Type TISP85)

Protection type IPW44

Cooling type 1C0141

D
R D KE
A {——ﬁ _ —
77*[ 95? g
+— %
Lk H] oR N -
ot i _‘ -
=5 = | F-
Mmie a 1t
+ L) +
_o ey D i
A s i S ) 2Tie L e
— J t s mr \J [ T i M
Fo | |EHEY o = | U .
z F F __|xB_|\BZ 2/ ‘ E_j|! ¢ T | —
_> N | BE BE i, | = 1 1. X__Sliding distance
f RN IR VR | BE BE
—= | Z
! BN BX BM | ° r—ﬂ—_J
LFwl =
== (The frames 180 2001 are) FW
Fig. 1 Frame Nos 63 ~ 112M Fig. 2 Frame Nos 132S ~ 180M Fig. 3 Frame Nos 180L~ 226§ ‘provided with side bases Fig. 4 Frame Nos 250S ~ 315M
External Dimension
Frame Output (kW) ?f'ass Fig Motor Shaft Slide base (ral) Foundaton Boaring No. B T Frame
No. Seielamoe oo Tamam] o= Ino. -
2-pole| 4-pole | 5-pole | 8-poe| een A B |c|p| e | F |a] H i Julk] L [m|[Nlzlxe] ko KL R [sTa 7] Ulwlar|se]ar[aa]an] am[en]Bz] 8X [RWIRN] X [FD|FH[FW| ook | D |Votor| Base| Mo
—_ — —_ _ 3,
© g em) 0B = |1 [ie7 | 8| eH9a 0 | 40 | 7|iEes = 20 [z e | 7] Sofies 17 103 (11| 23| —[1 | —|o03| 50| 80|17 {30 re8[185/ 13| 9 | — | — | 40| 10| 95| 40| e201zz |e201zz[ 14] 15] 63
—_ —_ —_ 3,
n 04| 04 02 E |1 [121 | 85| 71)157] 66 | 45 | 8|1495 28 241 |186|111| 7) 45|PF% |185 120 [14| 30 5|3 | 5(03]| 55| 85/ 15| 30| 194/200| 13 9 | — | — | 40] 10| 95| 40| 62022z |e202zz| 17| 18] 71
— —_ 3,
R (T D O I - e T 8 o ] RS 9 = |28 169 IEn[i0] eolirs |es 140 [19] 40| 6/35| 6|03 65| 90/ 15| 30| 214[210{ 13| 9 | — | — | 40| 10[ 95| 40| 62042z [620azz] 21| 20| 80
1.5 —_ _ 3,
0L 22| 15) 075 04] E |1 ]1605 117 | 90|194]| 70 | 625 |10 187 35 329 |170|186 10 66| PF% |202 1685|24| 50| 7|4 | 8|03 | 70/105| 15 | 30 | 230/240| 13| 9 | — | — | 40| 10| s 40| 62052z |[6205zz] 20| 22 s0L
— _ 3,
100L 22] 15| 05| E [1 [180 [1315|100[220] 80 | 70 [12]210 [2435| 40 373 |196]176|12| 63|PF% |218 193 28] ool 712 1 &losl 80115l 20 1 40 | 27olzeol 131 o | = I = | 20l 101 0 40| 62052z le2052z] sl aol toom
—_ 3,
tam | 37| 37| 22| 15| £ |1 [180 [1385|112|240] 95 | 70 [14[233 |2e65| 45 389 |226(176|12| 70 PF% | 230 70 ] @l 7a | elesl s @mlal mdenl el o | =l =T o ol cnz lmaa &l =8l an
55 * —_ 1
&2 || FE| o6 | SrjEa) B |2 B |ier |[UsR|es Je8 || w0 |16]er S| e0) =  ade ||Eem Tio|iE] EE]HET o |E 239 |38| 80| 8[5 [10]05[110[120] 25 | 45 | 355280 13 [ 105] — [ — | eo| 10| 85| 40| es0szz [e207zz| 72| s0| 1325
_— —_ 1
b B ea| &7 | B | 2)es |17 182|206 |008 | 89 |6 |20 |Ge | €Y = |4ed 2SR AS 02| B9 A AT 258 |38| 80| 8/5 [10]05[110/140] 25 | 45 | 360[a18] 13 | 105 —~ | — | eo| 10| 85| 40| e308zz |62072Z[ 82| 60| 132M
11 1
160M |45 |11 | 75 55| B [2]270 |21 |160/320|127 |105 |20|318 |369 | 60|61 |593 |315)262|15 108 PFi’a 300 323 |42|110| 8|5 [12]05|125|165] 30 | 50 | 406|380] 16 [ 105] — | — | 70| 12} 115] s0| ez09zz |6308zz| 110 85| 160Mm
1
B Jdee]is |01 | wel B |8 = [233] et Een] it i fed [l G 0Nl v 1) ) W RS b e ) 345 |42[110] 85 [12]|o05[125 185] 30 | 50 | 406|420] 16 | 105| — | — | 70| 12| 115 50| e300zz |6308zZ| 125| 10.0[ 160
185 2375
18M |22 185 15 |11 | B | 2311 |¥¥9 [180/366[130.5 [1205 |22[367 [427 | 706456625 350(204 15 121 |PF2 375 361548 170 8|55 [14|1 [120|185] a5 | 55 | ase|4z0| 16 [ 116] = | = | so| 12| 118 s0] 571 [ez=zz] 188 130 10m
18.5 255 ~
oL |30 |30 |185|15 [ F |3 [330 |25 |180|366|139.5 1395 |22]a67 427 | 70[e685|7005 [350|332]15 121 |PF2 |75 370555 110]70] 6 |16 S2 [120] 205| 35 | 55 | as6|a60] 16 | 115] = | — | so| 12] 175| 0] (&o122) [emeza] z10| 14 | reoL
200LH o — — - 281 756.5 I A R T -1 = _ | Z I =T =T = —
T e e B - N ' 200|409 |159 (1525 |25|405 |465 | 80| st 400|372|19|133|PF2 | 400 3956 |55| 110/10|6 | 161 6312C3 |63082Z| 290 200LH
200L ~ (a5 |37 |22 280 786.5 4255 (60| 140/11 |7 |18]05|160|230| 35 | 60 | 535/520| 18 | 13 | — | — |100| 16| 150| 63| 6313Z2C3 |63112Z| 300| 18 | 200L
225sH |85 | — | — | — 286 7785 T T _ T T Tl - == = = =T = —

. F | 3|ares 225462178 |143 |28|457 (528 | 80|85 440|355 |19 | 149|PF2 (430 402 155)110/10|6 |16 1 6312C3  |630827] 350 2255H
2258% | — |55 45 |30 286.5 808.5 432 |65|140[11 |7 |18|1 |200| —| 35|71 | 770/476| 20 |225 | 71 {190|180| 16| 265| 63 |6314C3/NU314 |631222] 360| 36 | 2255%
250SH |75 | — | — | — 317 9145 o I T T T e _

- F |4 |48t 250|530 (203 1555 |32|755 | — 90100 500|385 | 24 | 168|PF2ls | — 433555 |110/10/6 |16 1 6312C3 |6312C3] 550 LHER
250S% | — |75 |85 |37 3175 944.5 4635 75| 140(12| 75 |20|1 |315| —|30 | 85| 900|521 | 19 |250 | 80 |210|180| 16| 265| 63 |6316C3/NUSI6 [631322| 570| 65 | 2505%
250MH |90 | - | - | — 336 9525 A N I B = T[T =1 2 = _

- F | 4|s00 250|530 203 |1745 |32|755 | — 90100 500 425 | 24 | 168|PF21s | — ez | e | T1910]® |18 B LY el B10 A
250M% | — |90 |75 |45 336.5 982.5 4825 (75| 140/12|75 |20(1 |[315| —| 30|85 | 900{559]| 19 [250 | 80 |210]|180| 16| 265 63]6316C3/NU316 |63132Z| 630| 65 | 250M%
280SsH |110 | — | — | — 363 994 ) O R D P e Y e e —

- F | 4|50 280|590 | 2285 [184 |32|820 | — | 100110 560 | 450 | 24 [ 190|PF23 | — a2 |99 119 1e|s | 18| dBIECE e aty| o A
280S% | — 110 | 90 |85 366 1054 544 |85|170/14|9 |22|1 |[315| —|30 |85 | 900|578| 19 [250 | 80 |210|200| 16| 265| 63|6318c3/NU3I8 |63152Z| 760| 65 | 28055
280MH a2 | — |- |- 3885 1044 T T _T=-T -l T -1 = == _

- F | 45345 280|590 | 228.5 | 209.5 | 32820 | — | 100[i10 560 | 500 | 24 | 190|PF21s | — s |89 1910 |16 SEIECE et Aoy eH L
280M% | — [182 110 |75 391.5 14 5695 85|170/14|9 122|1 |315| —|30 |85 | 900/629| 19 |250 | 80 |210|200| 16 265 63|6318c3/NU3I8 |631522Z| 850| 65 | 280M %%
315sH fieo | — | — | - 408 1118 Y Y D D e e Y S e _

_ F | 4|59 315|670 254 |203 |36|895 | — | 110125 630 | 500 | 28| 216|PF2ls | — 22 ||&9 | 110 ie]® |16 dlEy el 2| B sl
3156% [ — 160 132 | 90 410 nm 589 |95(170/14|9 |25[1 |375| —| 35 |100|1120|656| 24 |280 | 95 |250|200| 20| 445| 88| 6320c3/NU320| 6317 | 980[105 | 315554
315MH Jpo0 | — | — | — 4365 1169 T ) O Y e e I S P e _

- F | 4|6145 315|670 | 254 |2285|36|895 | — | 110125 630 | 550 | 28| 216|PF2ls | — g || | 11010 ® | /16| i GENECY |[oeiEby e S1SMH
815M% | — 200 j160 [110 435.5 1229 6145|195 170{14|9 |25|1 |[375] —| 35 [100|1120|707 | 24 |280 | 95 |250|200| 20| 445 88]6320C3/NU320| 6317 [1060105 | 315M%

<Notes> 1. Tolerance for size S is h6 for 11, j6 for 14 to $28, k6 for $38 to ¢48 and m6 for 55 or over, according to JIS B 0401 (Limits and
fits for engineering).
2. Tolerance for size Cis 0 to —0.5 for 250 or iess and 0 to —1.0 in case of exceeding 250.
3. Frame No. C/B show direct coupling {C) and belt driving (B} and the two types have different kinds of bearings at coupling side.

4. In case of V-belts, after reference table of “‘Application of V-Belts and V-Pully’’ {P16), please be careful with selection and instal-
lation,

Bearing Nos. in the parenthesis show the one for 2-pole motors.

Size may be changed. Please inquire sizes, when used for design.

11

» oo

" 2.2kW-8-pole in marked symbol* is class E insulation.

In frame Nos. 180M and 180L, size B in bracket is 2-pole motor. 12



Vertical Totally-Enclosed Frame Surface Cooled Outdoor Type
(Type VTISP85)

Totally-Enclosed Frame Surface Cooled Flange-Mounted Outdoor Type

Protection type

1PW44

Cooling type

1C0141

/A §

LL

=
LG
"o

(Type HTISP85)

Fig. 3 Frame Nos 180L ~ 2258

Il

L

1 L[]

LL

QW

|

Fig. 4 Frame Nos 2508 ~ 315M

Shaft Bearing No. Arﬁgrs(;x' Flange type Frame No.} Flange
s Q T u w QR Coupling side | Opposte (kg) 1E 3¢ -] Ne.
11 23 = 1 = 0.3 620122 620122 8.0 - 63

FF130

14 30 5 3 5 03 620272 620222 105 - 4l
19 40 6 35 6 0.3 620427 620422 14.0 - 80 165
24 50 7 4 8 0.3 620522 620522 26 = 90L.
28 60 7 4 8 05 620622 620527 35 144 100L 215
28 60 7 4 8 0.5 630622 620622 50 155 112M
38 80 8 5 10 0.5 630822 620722 68 180 1325 265
38 80 8 5 10 0.5 630822 620722 79 180 132M
42 110 8 5 12 05 630922 630822 115 209 160M 300
42 110 8 5 12 0.5 630922 630827 130 209 160L
48 110 9 5.5 14 1 E=1) (630822) | 185 247 180M FF350
55 110 10 6 16 &2 jEatEca) (€30822) | 210 247 180L FF350
55 110 10 6 16 1 6312C3 630822 270 265 200LH cra00
60 140 11 7 18 0.5 631322C3 631122 280 265 200L
55 110 10 6 16 1 6312C3 630822 310 303 225SH
65 140 11 7 18 1 6314C3/NU314 | 631222 320 303 2255%
55 110 10 6 16 1 6312C3 6312C3 460 - 250SH 500
75 140 12 75 20 1 6316C3/NU316 | 63132Z 480 - 2508 %
55 110 10 6 16 1 6312C3 6312C3 510 - 250MH
75 140 12 75 20 1 6316C3/NU316 | 63132Z 530 - 250M %%
55 110 10 6 16 1 6312C3 6312C3 640 - 280SH
85 170 14 9 22 1 6318C3/NU318 | 631522 660 = 280S %4 F 600
55 110 10 6 16 1 6312C3 6312C3 740 - 280MH
85 170 14 9 22 1 6318C3/NU318 | 631522 760 - 280M %%

W
o
Q‘ T
8 = 1 % 4o
Lo L1
S
ot:
X
—
- 5 X
§ %
: { / P LN- gL
i (LN-¢LZ
Fig. 1 Frame Nos 63 ~ 112M Fig. 2 Frame Nos 132S ~ 180M
External Dimension
Flange Frame No. Output (kW) ?)‘“5 Fio Motor
No. 2-pole| 4-pole] 6-pole] 8-pole} o [NO-I D L LL | IE |LA|{LB |LC|LE|LG|LZ|LN|LR|KD]|KL
FE130 63 02| 02| — | — E |1)14 | 221 |198 | — |130 | 110 |60 |35 | 10 | 10 | 4 23 |PF% | 178
71 04| 04| 02| — E |1]|157 | 251 |221 | — | 130 | 110 |60 |35 | 10 | 10 | 4 30 |PF% | 185
16 80 075| 075 04| 02| E | 1| 178 | 285 {245 | — | 165 | 130 200 |35 | 12 | 12 | 4 40 |PF% | 192
90L 23| 15| 075 04| E | 1| 194 | 342 (202 | — | 165 | 130 | 200 |35 | 12 | 12 | 4 50 |PF% | 202
Frals 100L — | 22| 15| 075 E |1 ]|220| 373 |313 | 144 | 215 | 180 | 250 | 4 6 | 15 | 4 60 |PF% | 218
112m 37| 37| 22| 15] E | 1]|240| 402 |342 | 310 | 215 | 180 | 250 | 4 6 | 15 | 4 60 |PF% | 230
— 1328 22| 55| 37| *22| B | 2| 276 | 456 376 | 180 | 265 | 230 | 300 | 4 20 | 15 | 4 80 |PF1l4 | 274
132M 75| 55| 37| B | 2276 | 494 |414 | 180 | 265 | 230 | 300 | 4 20 | 15 | 4 80 |PFil4 | 274
300 160M 2 75| 55| B |2]|320| 633 [523 | 209 | 300 | 250 | 350 | 5 20 | 19 | 4 | 110 |PF1)a | 300
160L 18515 | 11 75| B | 2320|677 |567 | 209 | 300 | 250 | 350 | 5 20 | 19 | 4 | 110 |PFi}4 | 300
FF350 180M 22 | 185 15 1 B | 2]366 | 7025 |592.5 247 | 350 | 300 | 400 | 5 20 | 19 4 | 110 |PH2 | 375
FF350 180L 30 (30 |J8°| 15 F | 3]366 | 740.5 |630.5| 247 | 350 | 300 | 400 | 5 20 | 19 | 4 | 110 |PF2 | 375
200LH =4 = | =1 = 756.5 110
FF400 = F | 3] 409 646.5| 265 | 400 | 350 | 450 | 5 22 | 19 | 8 PF2 | 400
200L = | | |&E° 786.5 140
225SH 55 =] =| = 7785 110
F | 3] 462 668.5| 303 | 500 | 450 | 550 | 5 22 | 19 | 8 PF2 | 430
2258 %, — |85 |45 |30 808.5 140
250SH 75 - | =] - 9145 110
FF500 - F | 4] 530 804.5| 365 | 500 | 450 | 550 | 5 22 | 19| 8 PF2)s | 505
250854 — |75 |55 |37 944 .5 140
250MH 90 - = | = 9525 110
- F | 4]s30 842.5| 365 | 500 | 450 | 550 | 5 22 | 19 | 8 PF2); | 505
250M % — |90 |75 |45 982.5 140
280SH 110 - | =1 = 994 110
F | 4|59 884 | 420 | 600 | 550 | 660 | 6 25 | 24 | 8 PF2)s | 540
280S % — [110 |90 |85 1054 170
FF600
280MH 132 - | = | - 1044 110
F | 4]s90 934 | 420 | 600 | 550 | 660 | 6 25 | 24 | 8 PF2l% | 540
280M % — |132 |110 |75 1104 170
<Notes> 1. Tolerance for size S is h6 for ¢11, j6 for #14 to ¢28, k6 for 38 to #48 and m6 for 55 or over, according to JIS B 0401 (Limits and

13

fits for engineering).
2. Tolerance for size LB is j6 for 450 or less and js6 for 550 or over, according to JIS B 0401.

3. Frame No. C/B show direct coupling (C) and belt driving {B) and the two types have different kinds of bearings at coupling sides.

4.

©Noo

In case of V-belts, after reference table of ""Application of V-Belts and V-Pully’' {P16), please be careful with selection and installa-

tion.

Bearing Nos. in the parenthesis show the one for 2-pole motors. .
Sizes of flange-mounted type are the same as those values of vertical type shown in the above table other than those marked symbol™.

. Size may be changed. Please inquire sizes, when used for design.
2.2kW-8-pole in marked symbol™* is class E insulation.

14



[ Rated Current and Rated Speed (reference values)

Protected drip-proof type

Totally-enclosed frame surface cooled type

.Application of V-Belts and V-Pulley and Mounting of V-Pulleys

e The standard V-belts conform to JISK6323 (V Belts for Power Transmission), while narrow V-belts conform to
JISK6368 (Narrow V-Belts for Power Transmission). ‘
e Outputs of motors suitable for V-belt driving are as specified in Table 1, applicable according to the type of V-belt.

Application of V-belts and V-pulieys for the respective motor outputs is as specified in Table 2.

e |If the diameter of a V-pulley is smaller than the value specified in the Table or if the number of belts becomes
unusually large, then the shaft may be broken due to excessive shaft loading or bearings may be damaged. If such usage
is intended, please make inquiries to us.

Application of V-Belts and V-pulleys for Various Motor Qutputs

Type of V-Belt and Applicable

Output | Voltage
W) Frequency 2-pole 4-pote 6-pole 8-pole 2-pole 4-pole 6-pole 8-pole
( (v-Hz) AMP {min ‘| AMP [min | AMP [ min ‘| AMP |min '| AMP |min '| AMP | min '| AMP min ‘| AMP |min~'
200-50 1.8 670 1.0 2840 1.4 | 1390 1.4 920 1.8 670
0.2 200-60 1.6 | 800 0.9 | 3400 1.2 | 1670 1.2 | 1100 1.6 | 800
220-60 16 | 810 0.9 | 3440 1.2 | 1680 1.2 | 1120 16 | 810
200-50 2.6 920 3.0 695 1.8 2880 22 | 1410 2.6 920 3.0 695
0.4 200-60 22 | 1100 26 | 835 1.7 | 3460 1.9 | 1690 22 | 1100 26 835
220-60 2.3 1120 26 845 1.6 3480 1.9 | 1700 23 1120 2.6 845
200-50 3.4 | 2900 36 | 1420 4.1 930 48 | 700 34 | 2900 3.7 | 1420 4.1 930 48 | 700
0.75 200-60 3.0 | 3470 34 | 1700 36 | 1120 42 | 840 3.0 | 3470 3.3 | 1700 36 | 1120 4.2 840
220-60 3.0 | 3490 32 | 1710 36 | 1130 4.2 | 850 3.0 | 3490 32 | 1710 36 | 1130 4.2 850
200-50 6.0 | 2900 6.4 | 1420 7.2 930 80 705 6.0 | 2900 6.6 | 1420 7.2 930 8.0 | 705
1.5 200-60 58 | 3470 6.0 | 1700 65 | 1120 7.2 845 58 | 3470 6.0 | 1700 6.5 | 1120 72 | 845
220-60 54 | 3490 56 | 1710 6.2 | 1130 7.0 855 54 | 3490 58 | 1710 6.2 1130 7.0 855
200-50 8.4 | 2900 9.0 | 1420 10 930 11 705 84 | 2900 89 | 1420 10 930 1 705
2.2 200-60 8.2 | 3470 84 | 1710 9.2 | 1120 9.8 | 845 82 | 3470 85 | 1710 9.2 | 1120 9.8 | 845
220-60 76 | 3490 80 | 1720 88 | 1130 9.4 | 855 76 | 3490 79 | 1720 8.8 | 1130 94 | 855
200-50 13 2900 15 1420 16 950 18 710 13 2900 15 1420 16 950 18 710
3.7 200-60 13 3470 142 | 1710 15 1130 16 850 13 3470 14 1710 15 1130 16 850
220-60 12 3490 132 | 1720 14 1140 16 860 12 3490 13 1720 14 1140 16 860
200-50 20 2900 22 1450 24 950 26 720 20 2900 22 1450 24 950 26 720
5.5 200-60 20 3470 20 1730 22 1130 23 860 20 3470 21 1730 22 1130 23 860
220-60 18 3490 19 1740 22 1140 23 870 18 3490 20 1740 22 1140 24 870
200-50 28 2900 29 1450 32 960 34 720 28 2900 30 1450 32 960 36 720
7.5 200-60 26 3470 27 1730 30 1150 30 860 26 3470 28 1730 30 1150 32 860
220-60 24 3490 25 1740 28 1160 30 870 24 3490 26 1740 28 1160 31 870
200-50 40 2900 44 1450 44 960 51 725 40 2900 42 1450 46 960 48 725
11 200-60 38 3470 40 1730 42 1150 46 870 40 3470 40 1730 42 1150 46 870
220-60 36 3500 38 1750 40 1160 44 875 36 3500 38 1750 40 1160 42 875
200-50 54 2900 56 1450 62 970 71 725 52 2900 56 1450 62 970 64 720
15 200-60 52 3470 53 1730 58 1160 63 870 52 3470 54 1730 58 1160 60 865
220-60 48 3500 50 1750 54 1170 62 875 48 3500 50 1750 54 1170 58 870
200-50 68 2920 68 1450 75 970 83 720 64 2920 70 1450 76 960 80 720
18.5 200-60 64 3500 66 1740 70 1160 75 865 64 3500 68 1740 72 1150 76 865
220-60 59 3520 60 1750 66 1170 72 870 58 3520 62 1750 66 1160 70 870
200-50 77 2920 80 1460 88 960 96 720 76 2920 82 1450 90 960 96 720
22 200-60 75 3500 78 1750 84 1150 87 865 76 3500 80 1740 84 150 88 865
220-60 69 3520 72 1760 78 1160 82 870 70 3520 74 1750 80 1160 84 870
200-50 108 2940 | 110 1460 | 120 960 | 130 720 | 104 2920 (110 1450 | 120 960 | 136 725
30 200-60 106 3520 | 106 1750 | 114 1150 | 120 865 | 102 3500 | 108 1740 | 112 1150 | 124 870
220-60 96 3540 98 1760 | 104 1160 | 112 870 94 3520 98 1750 | 106 1160 | 120 875
200-50 130 2940 | 134 1460 | 146 960 | 150 720 126 2920 | 134 1460 | 146 960 | 158 725
37 200-60 130 3520 | 132 1750 | 140 1150 | 144 865 | 126 3500 | 132 1750 | 138 11680 | — - —
220-60 118 3540 | 120 1760 | 130 1160 | 132 870 [114 3520 | 120 1760 | 128 1160 | 138 875
45 400-50 80 2940 85 1460 90 970 95 720 76 2920 79 1460 87 970 (101 725
440-60 72 3540 74 1760 78 1170 85 870 69 3520 71 1760 77 1170 87 875
55 400-50 95 2940 98 1460 | 108 970 | 114 720 93 2940 97 1460 | 116 970 | 117 730
440-60 85 3540 87 1760 95 1170 99 870 85 3530 87 1760 99 1170 [ 102 880
75 400-50 133 2940 | 133 1460 | 148 970 | 144 720 129 2940 | 135 1470 | 153 970 | 164 730
440-60 118 3540 | 118 1760 | 129 1170 | 126 870 [116 3530 | 119 1770 | 132 1170 | 142 880
90 400-50 150 2940 | 158 1460 | 167 970 | 171 720 | 150 2940 | 164 1470 | 178 970 | 187 730
440-60 139 3540 | 140 1760 | 148 1170 | 151 870 | 136 3530 | 144 1770 | 157 1170 | 165 880
o 400-50 192 2940 | 201 1470 | 216 970 | 214 720 [ 181 2940 | 195 1470 | 212 970 | 211 730
440-60 170 3540 | 177 1765 | 189 1170 [ 191 870 |[164 3540 (172 1770 | 185 1170 [ 188 880
132 400-50 225 2940 | 238 1470 | 252 970 222 2940 | 236 1470 | 250 970
440-60 198 3540 | 210 1765 | 222 1170 198 3540 | 207 1770 | 220 1170
160 400-50 269 2940 | 281 1470 | 285 970 264 2950 | 278 1470 | 308 970
440-60 240 3540 | 252 1765 | 255 1170 239 3540 | 247 1770 | 268 1170
200 400-50 339 2950 | 347 1470 335 2950 | 348 1470
440-60 300 3540 | 313 1765 299 3540 | 308 1770

15

Max. Cutput (Table 1)
Reted motor output (kW) Standarq V-belt Narrow V-belt Standard V-belt | Narrow V-belt
Type [No. | UoRel | Vpuler frype Ino. | (oS | Vepuley 2P 75 75
2-pole| 4-pole | 6-pole | 8-pole| of of diameter rim width | of of diameter fim width
V-belt | V-belts | dp (mm) PW (mm)  |vpeit] vaetts | de (mm) PW (mm) 4P 75 90
0.2 0.2 — — A 1 75 20 3V 1 71 174 6P 110 160
04 04| — | — ] a1 75 20 v | 1 71 17.4 8P 75 132
075 075| 04| — | A 1 80 20 vV o1 71 17.4 Unit: kW
1.5 - 075, — A 2 80 35 3V 1 75 174
2.2 — — — A 2 90 35 3V 1 75 17.4
— 14 _ _
5 Al 2 %0 35 v 2 5 217 How to Mount V-Pulley
— | 22 15| — A 2 100 35 3V 2 75 277 In order to minimize the load to be ap-
37 _ — — A 3 90 50 3V 2 75 277 plied to the bearings and the stepped
— — — part of motor shaft, it is necessary to
22 A 3 100 50 3V 2 90 27.7 move the shaft’s load (caused by V-belt
k 37 _ o A 3 112 50 3V 2 100 277 tension) as nearer as possible to the
g — — — motor side. Therefore the V-pulley
d A 3 112 50 3V 3 75 38.0 should be mounted as illustrated below
75 _ _ o A 3 132 50 3V 4 80 483 so that its rim end surface can be con-
— — tained in the same plane for the stepped
515 3.7 B 3 125 63 3V & 100 38.0 part of shaft.
— 75 — — B 3 150 63 3V 3 125 38.0
— — 55| — B 3 150 63 3V 3 140 38.0 ._PW_.]
— — 75 - B 4 150 82 3V 4 140 48.3
— 1 - — | B 4 160 82 av | 4 125 48.3 “
— — 1 — B 5 170 101 3V 5 140 58.6 sl 2
— |15 - — B 5] 170 101 3v 6 125 68.9 }
— 185 - - B 5 200 101 3V 6 140 68.9
— |22 15 — B 5 224 101 3V 6 160 68.9
— — 185 — (e} 4 224 110.5 5V 3 180 60.4
— |30 22 — C &) 224 136 5V 4 180 775
— — 30 — C 5 265 136 5V 4 224 77.9
— |37 - — o} 6 224 161.5 5V 4 200 779
— |45 37 - C 6 265 161.5 5V 4 224 779
— — - 30 C 6 265 161.5 5V 5] 224 954 @
— |55 - — C 7 265 187 5V 5 224 95.4 &
— — 45 — C 7 280 187 5V 5 224 95.4
- - 37 C 7 280 187 5V 5 250 954
— — 45 C 7 315 187 5V 6 250 112.9
- — 55 — C 8 300 2125 5V 6 250 1129
Load point
— |75 — — C 8 315 2125 5V 6 250 1129
— N 561 D ) 355 196 5V | 6 280 1129 In order not to block ventilation cooling
— oo _ . _ _ _ — 5V 6 280 1129 for the motor, the standard V-pulley is
- — — arranged into an arm shape as illustrated
75 D 6 355 233 5V 6 315 1129 above. If the pulley is flat plate type as
_ - 90 75 D 6 400 233 5V 6 355 112.9 shoyvn below, it should be provided with
— o — b 7 400 270 v “ 255 1038 a big ventilation hole (the bigger the
better).
— — - 90 — — — — 8V 4 365 123.8
- — [132 110 — — — — 8V 4 400 123.8 Pw
— — {160 132 — — — — 8V 4 450 1238
1 Y
How to Stretch V-Belt: | Ventilation
L
If the tension of V-belt is too much, its life may be shortened due to fatigue or the belt will give rise to hole sl 3
overheating in bearings, breakage in the shaft, etc. =

If the tension of V-belt is insufficient the belt may increase vibration and slippage and the life of V-belt
will be shortened extremely. These cautions shouid be borne in mind when arranging the V-belt.

Load point

16



[l Installation of Motor

Frame No. 63 | 71 | 80 | 90 | 100 | 112 | 132 | 160 | 180 | 200 | 225 | 250 | 280 | 315
Zmountinghole | 7 | 7 |10 |10 |12 | 12|12 |15 | 15| 19| 19 | 24 | 24 | 28
di mounting bolt | M6 | M6 | M8 | M8 | M10| Mi0} Mi0|Mi2| Mi2| Mie| Mi6| M20 | M20 | M20
= G — 1 — | 8| 4| 4/14)16| 20| 22| 25| 28| 36| 3| —
g § 3 ¢ — | — |16 |2 | 25| 3|3 |4 4 |s0|s0|75]|75]| —
g52| tiwax. | — | — | 25|30 | 35| 35] 45|60 60| 70| 70| 85| 85 | —
g G 25| 3| 3|10 | 12| 14|16 | 20| 22| 25 | 28 | 32 | 32 | 36
+3 * 2l e |12 |12 ] 16| 25| 30| 30|35 |40 |4 ]|s0|s0]| 70| 70]8s
Frame EE55[ “iwax |20 | 20 | 25 | 30 | a5 | a5 | 45 | 60 | 60| 70 | 70 | 80 | 80 | 85
Frame No. 63 | 71| 80 | 90 | 100 | 112| 132 | 160 | 180 | 200 | 225 | 250 | 280 | 315
Lz ~ | = =]12{15 15| 15|19 | 19|19 |19 |2a | — | —
w 33 de — | — | — |mo|mi2 Mi2|mi2|mie|Mi6|Mie| M| M0| — | —
88, LG —| — | — |12 16| 16|20 |20 | 39| 22| 22|25 | — | —
5 i 52 L. — | —| — |3 |3 |3 |4 45|25 |50 |50 |65| — | —
. bomax. | — | — | — | 35| 45 | 45 |50 | 50 | 39| 90 | 90 | 90 | — | —
LR - LZ 10 |10 |12 |12 [ 15 | 15| 15 [ 19 | 19| 19 | 19 | 19 | 24 | —
égm de M8 | M8 | M10 | M10|Mi2|Mi2[M2| Mi6|Me6|M6| M6 M6 M0| —
§§§ LG 10 [ 10 |12 [ 12 |16 | 16 | 20 | 20 | 20 | 22 | 22 | 22 | 25 | —
522 L. 25 | 25 | 30 | 30 | 35 | 35 | 40 | 45 | 45 | 45 | 50 | 50 | 50 | —
Flange 2E8
fomax. | 25 | 25 | 30 | 30 | 40 | 35 [ 45 | 50 | 50 [ 50 | 70 | 70 | 70 | —
Il Terminal Connection
Frame No.  Je~i1z)i2~160f 180~225 250~315
3 | Output (W) | 32, odow|odiow|beiow] 55 | 75 | 90 |110| 132|160 200
g 200V I ms | M6 [ M6 | M8 [miz(mi2] — | — | — | — [ —
}f) & &0V | Ms | M6 | M6 | Ms | M8 | M8 |M10|M10|M12|M12|Mi2
cart tormnat 28 A Me | M8 | Mio M10
(e e vor) Bl 7 (W) o3| oim |odtulbaw] 37 | 45 | 55 | 75 | 90 [110|132( 160 200
de Earth terminal 5= 200V
(outside the box) i3 200 | M5 | me | Me | M8 | M8 [Mio|MI2|MI2| — | — | —
g termne ;ig @ &NV I M5 | M6 [ M6 | M8 | Ms | M8 | M8 | M8 |M10|M10|M12[Mi2|M12
5l o [wme|ms| wmio M10
Il Relubrication Interval and Amount of Grease |
Relubrication interval (Unit: | 0?H)
Bearing No. Amount of grease Ball bearing Roller bearing
Bal Roller 2-pole 4-pole 6-pole 8-pole 2-pole 4-pole 6-pole 8-pole
bearing | bearing f & ©C somzl6onz| s0 | 60 | 50 | 60 | 50 | 60 | 50 | 60 | 50 | 60 | 50 | 60 | 50 | 60
6310 | NU310 | 20 22 32 | 28 | 50 | 50 | 50 | 50 | 50 | 50 | 27 | 22 | 50 | 44 | 50 | 50 | 50 | 50
6311 | NU311 25 28 30 | 25 | 50 | 50 | 50 | 50 | 50 | 50 | 24 | 20 | 48 | 40 | 50 | 50 | 50 | 50
6312 | NU312 | 30 33 28 | 23 | 50 | 46 | 50 | 50 | 50 | 50 | 22 | 18 | 44 | 36 | 50 | 50 | 50 | 50
6313 | NU313 | 35 39 26 | 21 | 50 | 42 | 50 | 50 | 50 | 50 | 20 | 17 | 40 | 34 | 50 | 50 | 50 | 50
6314 | NU314 | 40 45 24 | 20 | 48 | 40 | 50 | 50 | 50 | 50 | 19 | 16 | 38 | a2 | s0 | 48 | 50 | 50
6315 | NU315 | 45 50 — | — | 44 | 3 | 50 | 50 | 50 | 50| — | — | 3 | 3 | 50 | 45 | 50 | 50
6316 | NU316 | 50 56 — | — | 42 | 34 |5 |50 |5 |5 | — | — | 3 |2 | 5| 4] 5| s
6317 | NU317 | 55 61 — | — | 3 |3 |5 | 48 |50 | 50| — | — | 3 | 26 | 45 | 39 | 50 | 50
6318 | NU318 | 60 67 — | — | 3 | 3 | 50| 45 | 50 | 50| — | — | 30 | 24 | 45 | 3 | 50 | 48
6319 | NU319 | 65 72 — | — | 34 | 28 | 50 | 42 |5 | 50| — | — | 28| 22| 42| 33 | 50 | 44
6320 | NU320 | 70 78 — | — | 32 | 28| 48 | 42 |50 | 50§ — | — | 26 | 22| 39 | 33 | 50 | 44

17

[l Standard Specification

No. ltem Standard specification Semi-standard specification
1 | Standard JIS, JEC, JEM tEC, BS
Protected type IP20, ICO1
Protected drip-proof type IP22, ICO1
Totally-enclosed splash-proof
2 | Protection/Cooling type frame surface cooled type IP54, IP55
Indoor type: IP44, 1C0141
Outdoor type: IPW44, 1C0141
3 | Rotor construction Squirrel-cage rotor type
37kW and below 200V-50-60Hz, 220V-60Hz
4 | Rated volt f e
ated voltage/frequency 45KW and above 400V-50Hz, 440V-60Hz Other than standard specification
s 12N Class E insulation
and below
5 | Type of insulation Frame 1325~180M Class B insulation Other than standard specification
Pl bl Class F insulation
and above
6 | Ambient temperature and altitude —20°C~40°C 1000m or below Other than standard specification
Relative humidity 90% Max.
7 | Environmental conditions
Sometimes weak acid or alkaline gas may exist.
Locked-rotor 37kW and below According to JIS C 4210
torque 45kW and above 100%
- 37kW and below According to JIS C 4210 .
8 | Torque characteristics | pyji-up torque Other than standard specification
45kW and above 90%
Break-down 37kW and below According to JIS C 4210
torque 45kW and above 200%
Time rating Continuous
10 | Revolving direction Clockwise as seen from anti-coupling side Counterclockwise
Protected drip- All £ Right side as seen from
proof type PELUIE opposite coupling side
Frame 225 Right side as seen from
11 | Position of terminal box i i i
Totally-enclosed and below opposite coupling side
lash-
splash-proof type Frame 250 Ulsroers 5B o i Gy
and above
12 | Terminal arrangement Lug type (lead wire system) Stud type
Protected drip-proof
PP All frames Downward
type
13 Direct.ion of external Frame 225 Downward (toward opposite
cable intake Totally-enclosed and below coupling side for outdoor type)
splash-proof type Frame 250 Right side as seen from
and above opposite coupling side
Indoor use Knockout type Packing type (with threads
14 | External cable intake method Threaded joint steel for conduit pipe)
Outdoor use .
conduit type
15 | Color of coating Munsell 585/0.5 {(standard color) Other than standard color
Slide base (Frame 200 and below)
. Slide rail (Frame 225 and above})
16 | Accessories Shaft end key
Foundation bolts
Space heater




Please specify the following items when ordering LITTLE KING series motors.

Specification

Appointment

Specification

Appointment

No. item item Remarks No. item item Remarks
1 | Facility
Direct/Star- Specify the type of starter, and the
Bifvan 13 | Starting method | delta/Reduced tap voltage when reduced voltage
2 equipment voltage starting is required.
3 | Quantity When the starting frequency is more
Starting ) than several times per day, please
4 | Output K e frequency jliime/day specify the numbeer of times ot
5 | No. of poles starting and its interval time.
6 | Voltage s Load moment 2 ;
o ) When the GI_:) _of the load is large,
7 | Frequency 50Hz - 60Hz 15 (In terms of kg'm® | please speszy it.
- motor shaft) (=i/4a6h)
. ndoor
8 | Location Buialesr -
ocked-rotor f
c 16 | Performance |torque (%), | G R TR TSR B
Protected type IP20, 1CO1 required Breakdown p » P
Protected drip- torque (%) etc specify the value of them.
proof type IP22, I1C01 )
Totally-enclosed
9 | Type
frame surface e T When low noise type is required,
Tr?docl?)? tt;/gee A G 17 limitation Yes - No pledage:pecify the value of noise
) in b
Outdoor type IPW44, 1C0141 @
Specify the following items in case ) Specify the kind and class of gas
of belt drive: 181 [|[Explosionzproof e and explosion-proof classification.
10 Coupling with Direct coupling Diameter of pulley (P.C.D.),
load Belt drive Pulley width (PW),
Kind of belt, Specify the specific items.
No. of belt TimnenE || Sk (Ambie_nt temperature, humidity,
Count 19 conditions Non-standard eSO CE S, MISIE e
; ounter ; ; description related with the
1 Revolving e Viewed from opposite ) :
clitasiian s coupling side equipment delivered before.)
Terminal leadout: Lug type
Stud type: giyp 20 | Finished color Yes - No (’\ég;rfggrgiso/lgs
" Direct: Right or left side as viewed
12 | vemiE! from opposite coupling side; . . .
Diameter of the screw: 21 Accessories/ With. Without Specify the article and
Kind and size of cable spare parts ' quantity of it.

N

MEIDEN

MEIDENSHA CORPORATION

ThinkPark Tower, 2-1-1, Osaki, Shinagawa-ku, Tokyo, 141-6029 Japan

Phone: 81-3-6420-7510 Facsimile: 81-3-5745-3053
www.meidensha.co.jp

Specifications in this catalog are subject to change without notice.

CA156-2227©

As of Jan.,2009

2009-1ME(4L)0.5L



